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Time allotted: 45
PART 1 	PRONUNCIATION (5 questions)
Choose the word whose underlined part differs from the other three in pronunciation in the following question.
1. 	A. great	B. waste	C. surface	D. chase
2. 	A. storage	B. shortage	C. manage	D. escape
3. 	A. game	B. faster	C. safety	D. cake
Choose the word whose primary stress is placed on the second syllable.
4. 	A. carefully	B. happily	C. intelligently	D. normally
Choose the word whose primary stress is NOT placed on the first syllable.
5. 	A. extremely	B. usually	C. wonderfully	D. beautifully
PART 2 	USE OF ENGLISH (12 questions)
Choose the option that best completes the following sentence. 
6. The firemen arrived just in time to ______________ the child stuck in the fire.
    A. assist	B. help	C. rescue	D. provide
7. Robots can search for people after earthquakes ______________ than humans can.
    A. faster	B. slowly	C. slower	D. quickly
8. Without modern science and ______________, humans cannot travel to the moon.
    A. technological	B. technician	C. technology	D. technologically
9. Jane’s mom: Robots can recognize people’s voice and do what they say.  
Jane: ______________.
    A. How amazing	B. What a great robot!	C. I know. It’s a new one. D. Don’t worry! It’s easy!
10. If we check our tests ______________ carefully, we can get higher scores.
    A. much	B. more	C. a lot	D. well
11. My mom cleans the floor ______________ than a vacuum cleaner.
    A. more fastly	B. more slowly	C. slowlier	D. more faster
12. Cleaning is a simple job, and robots don’t get ______________.
    A. crazy	B. mad	C. bad	D. tired
13. My father prefers this robot because its battery can ______________.
    A. run fast	B. last longer	C. move slowly	D. keep it hotter
14. That smartphone has long battery life. ______________, it costs much more than this one.
    A. But	B. Therefore	C. However	D. Because
15. The greenhouse effect is the slow rise of the earth’s ______________ because of the increase in carbon dioxide in the atmosphere.
    A. climate	B. energy	C. power	D. temperature
16. Robots can’t get lost. They can ______________ through any environment.
    A. complete	B. rescue	C. navigate	D. charge
17. Jack: Don’t you think having a robot do all the housework is a good idea? 
Ben: ______________
A. Yes, I don’t think so.	
B. No. My children will be lazy then.	
C. Yes. It’s not a good idea.	
D. Yes, of course. It’s too expensive for my family.
PART 3 	WORD FORMATION (3 questions)
Write the correct form of the given word. 
18. Newton is considered one of the greatest ______________ in the world. (SCIENCE)
19. Henry got a higher score for his literature test last week because he did it more ______________ than the other students. (CARE)
20. We couldn’t even recognize that robot was working because it was moving very ______________.
(QUIET)
PART 4 	ERROR RECOGNITION (2 questions)
Find the underlined part that needs correction in the following question. 
21. These robots can still function normal in extreme weather.
    A. These	B. function	C. normal	D. extreme
22. The new tablet is modern, and the screen is a little too small.
    A. new	B. is	C. and	D. a little too
PART 5 	READING (5 questions)
Read part of a website article about computer technology. Write ONE suitable word in each space. (5 questions)
In 1965, a computer engineer called Gordon Moore said, ‘The number of items in a computer chip will double every year.’ In other words, chips will become more and more powerful while, at the same time, becoming smaller and smaller. Ten years later, he changed the doubling time (23) ___________ every four years. For the next 45 years, his idea proved to be correct, so people now call it Moore’s Law. Although some people say the speed of change (24) ___________ lower now, as a result of Moore’s Law, the power of modern computers is unbelievable. One example will show this. 
Apollo 11 was the American spacecraft (25) ___________ took astronauts to the Moon and back in 1969. It is clear that the computer on this spacecraft (26) ___________ able to do a lot of very difficult things. However, it had a lot less power than your present smartphone! Your phone has at least one million times more RAM than the spacecraft had. It also works at a speed which is 100,000 times (27) ___________ than Apollo 11’s computer.  
 So if you can find someone to program your phone for a trip to the Moon and back, all you will need to make the trip then is a spacecraft!
PART 6 	LISTENING (5 questions)
Listen to a conversation between two friends. Choose the best for each question. (5 questions)
28. The girl wants a new laptop ______________.
A. to watch movies	
B. to play video games	
C. to talk to friends and family	
D. to go on the web for school projects
29. The shop assistant suggests ______________.
A. the X19	B. the X20	C. the X21	D. the X22
30. The shop assistant says the best computer for the customer has a battery life of ______________.
A. five hours	B. six hours	C. 12 hours	D. 14 hours
31. What else should the girl think about?
A. Storage	B. Weight	C. Keyboard	D. Speakers
32. What does the assistant say about the laptop which she chooses?
A. It works very well.	
B. It’s very quiet.	
C. It has lots of features.	
D. The screen is very bright.
PART 7 	WRITING (8 questions)
Rewrite the following sentence without changing its meaning. Use the given word(s) if any.
33. All the students in my class cleaned the floor more slowly than a robot. (QUICKLY)
→ A robot___________
34. Mrs. Smith wants to buy that smartphone. Its memory is not so large.
→ (HOWEVER)___________
35. A normal storm moves more slowly than a typhoon. (SPEED)
→ A typhoon___________
36. The old computer system doesn’t work as effectively as the new one.
→ The new computer system___________
Use the given words or phrases to make a complete sentence.
37. These robots / can solve / that complicated problem / easy / than / we / expect /.
→ ___________
38. We / not think / robots / can do / any / the jobs / good / than humans /.
→ ___________
Put the words in the correct order to make a correct sentence. 
39. Keywords: camera/doesn’t/work well/new smartphone/./of the/The
→ .......................................
40. Keywords: live comfortably/People/without/and technology/./modern science/cannot
→ .......................................
---THE END---
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PART 1 	PRONUNCIATION (5 questions)
Choose the word whose underlined part differs from the other three in pronunciation in the following question.
1. 	A. great	B. waste	C. surface	D. chase
2. 	A. storage	B. shortage	C. manage	D. escape
3. 	A. game	B. faster	C. safety	D. cake
Choose the word whose primary stress is placed on the second syllable.
4. 	A. carefully	B. happily	C. intelligently	D. normally
Choose the word whose primary stress is NOT placed on the first syllable.
5. 	A. extremely	B. usually	C. wonderfully	D. beautifully
PART 2 	USE OF ENGLISH (12 questions)
Choose the option that best completes the following sentence. 
6. The firemen arrived just in time to ______________ the child stuck in the fire.
    A. assist	B. help	C. rescue	D. provide
7. Robots can search for people after earthquakes ______________ than humans can.
    A. faster	B. slowly	C. slower	D. quickly
8. Without modern science and ______________, humans cannot travel to the moon.
    A. technological	B. technician	C. technology	D. technologically
9. Jane’s mom: Robots can recognize people’s voice and do what they say.  
Jane: ______________.
    A. How amazing	B. What a great robot!	C. I know. It’s a new one. D. Don’t worry! It’s easy!
10. If we check our tests ______________ carefully, we can get higher scores.
    A. much	B. more	C. a lot	D. well
11. My mom cleans the floor ______________ than a vacuum cleaner.
    A. more fastly	B. more slowly	C. slowlier	D. more faster
12. Cleaning is a simple job, and robots don’t get ______________.
    A. crazy	B. mad	C. bad	D. tired
13. My father prefers this robot because its battery can ______________.
    A. run fast	B. last longer	C. move slowly	D. keep it hotter
14. That smartphone has long battery life. ______________, it costs much more than this one.
    A. But	B. Therefore	C. However	D. Because
15. The greenhouse effect is the slow rise of the earth’s ______________ because of the increase in carbon dioxide in the atmosphere.
    A. climate	B. energy	C. power	D. temperature
16. Robots can’t get lost. They can ______________ through any environment.
    A. complete	B. rescue	C. navigate	D. charge
17. Jack: Don’t you think having a robot do all the housework is a good idea? 
Ben: ______________
A. Yes, I don’t think so.	
B. No. My children will be lazy then.	
C. Yes. It’s not a good idea.	
D. Yes, of course. It’s too expensive for my family.
PART 3 	WORD FORMATION (3 questions)
Write the correct form of the given word. 
18. Newton is considered one of the greatest ______________ in the world. (SCIENCE) => scientists
19. Henry got a higher score for his literature test last week because he did it more ______________ than the other students. (CARE) => carefully
20. We couldn’t even recognize that robot was working because it was moving very ______________.
(QUIET) => quietly
PART 4 	ERROR RECOGNITION (2 questions)
Find the underlined part that needs correction in the following question. 
21. These robots can still function normal in extreme weather.
    A. These	B. function	C. normal	D. extreme
22. The new tablet is modern, and the screen is a little too small.
    A. new	B. is	C. and	D. a little too
PART 5 	READING (5 questions)
Read part of a website article about computer technology. Write ONE suitable word in each space. (5 questions)
In 1965, a computer engineer called Gordon Moore said, ‘The number of items in a computer chip will double every year.’ In other words, chips will become more and more powerful while, at the same time, becoming smaller and smaller. Ten years later, he changed the doubling time (23) to every four years. For the next 45 years, his idea proved to be correct, so people now call it Moore’s Law. Although some people say the speed of change (24) is lower now, as a result of Moore’s Law, the power of modern computers is unbelievable. One example will show this. 
Apollo 11 was the American spacecraft (25) which/that took astronauts to the Moon and back in 1969. It is clear that the computer on this spacecraft (26) was able to do a lot of very difficult things. However, it had a lot less power than your present smartphone! Your phone has at least one million times more RAM than the spacecraft had. It also works at a speed which is 100,000 times (27) faster/quicker than Apollo 11’s computer.  
 So if you can find someone to program your phone for a trip to the Moon and back, all you will need to make the trip then is a spacecraft!
PART 6 	LISTENING (5 questions)
Listen to a conversation between two friends. Choose the best for each question. (5 questions)
28. The girl wants a new laptop ______________.
A. to watch movies	
B. to play video games	
C. to talk to friends and family	
D. to go on the web for school projects
29. The shop assistant suggests ______________.
A. the X19	B. the X20	C. the X21	D. the X22
30. The shop assistant says the best computer for the customer has a battery life of ______________.
A. five hours	B. six hours	C. 12 hours	D. 14 hours
31. What else should the girl think about?
A. Storage	B. Weight	C. Keyboard	D. Speakers
32. What does the assistant say about the laptop which she chooses?
A. It works very well.	
B. It’s very quiet.	
C. It has lots of features.	
D. The screen is very bright.
PART 7 	WRITING (8 questions)
Rewrite the following sentence without changing its meaning. Use the given word(s) if any.
33. All the students in my class cleaned the floor more slowly than a robot. (QUICKLY)
→ A robot cleaned the floor more quickly than all the students in my class./A robot cleaned the floor more quickly than all the students in my class did.
34. Mrs. Smith wants to buy that smartphone. Its memory is not so large.
→ Mrs. Smith wants to buy that smartphone although its memory is not so large./Although its memory is not so large, Mrs. Smith wants to buy that smartphone./Although that smartphone’s memory is not so large, Mrs. Smith wants to buy it./Although the memory of that smartphone is not so large, Mrs. Smith wants to buy it.
35. A normal storm moves more slowly than a typhoon. (SPEED)
→ A typhoon moves at higher speed than a normal storm./A typhoon moves at a higher speed than a normal storm.
36. The old computer system doesn’t work as effectively as the new one.
→ The new computer system works more effectively than the old one.
Use the given words or phrases to make a complete sentence.
37. These robots / can solve / that complicated problem / easy / than / we / expect /.
→ These robots can solve that complicated problem more easily than we expected.
38. We / not think / robots / can do / any / the jobs / good / than humans /.
→ We do not think robots can do any of the jobs better than humans./We do not think that robots can do any of the jobs better than humans./We don’t think that robots can do any of the jobs better than humans.
Put the words in the correct order to make a correct sentence. 
39. Keywords: camera/doesn’t/work well/new smartphone/./of the/The
→ The camera of the new smartphone doesn’t work well.
40. Keywords: live comfortably/People/without/and technology/./modern science/cannot
→ People cannot live comfortably without modern science and technology.
---THE END---

